1 /KB O KE WA
[3] /KB /KA

(1) BT OB fR A
O JFK

iEe K Hi A5 157K IR 25 7K IR
£ 7K H R5.5.10 R5.5.10
PN & I i
& Mzl (©) 17.3 16.6
7K R §®) 16.7 18.4
— % Al (ImLH) 0 0
PN i (MPN/100mL) 0 0
E E Kk O 2 ok & W (mg/L) 0.002 0.003
il fid i3 Ji5 = ES (mg/L) <0.004 <0.004
Y BERE &= K K& O M RH BB Rk %= (mg/L.) 0.52 0.42
7 v F kA O E O E W (mg/L) <0.08 <0.08
i s k O 2 o b & Y (mg/L) <0.005 <0.005
% X O o 4 A& B (mg/L) <0.01 <0.01
~ v H kR E O AEWD (mg/L) <0.005 <0.005
oy {1t Y A 4 N (mg/L.) 7.5 7.2
VNI ATANNE A SN QT i ) (mg/L) 110 140
A Y (& F K i FE (ToC) o &) (mg/L) 0.1 0.1

p H fiE 7.1 6.9
5 e Bl B
= Jis () <0.5 <0.5
& B () <0.1 <0.1
B & W (T O N ) <1 <1
7t B & # Al (ImLH) 8 18
PN i #F| (MPN/100mL) 0 0
7 v ' = 7 R % # (mg/L) <0.02 0.02
fii % A 7 N (mg/L) 47 60
T X = H e (mS/m) 28.7 35.8




1 KBS O KERA
[3] KEEF KR

(1) BT M OSHE B R A
@ JFK
£ 7K H R5.4.12 R5.5.10 R5.6.13 R5.7.5 R5.8.1 R5.9.5 R5.10.4 R5.11.8 R5.12.5 R6.1.17 R6.2.7 R6.3.5 SOUN B/ SEH
X e = i ] = = i 55 = = i i = - - -
= R (©) 16.9 19.7 23.4 23.3 27.8 26.6 19.0 15.6 8.1 7.0 4.5 7.2 27.8 4.5 16.6
7K R (©) 16.9 16.8 16.9 16.9 17.0 16.8 16.8 16.9 16.8 16.7 16.9 17.5 17.5 16.7 16.9
— i i (ImLH) 0 0 1 0 0 0 0 0 0 0 0 0 1 0 0.1
PN 1 (MPN/100mL) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0.0
HEIT ALK RZEOIREWY (mg/L) — — — — — — <0.0003 — — — — — — — <0.0003
K Kk O F o &b A W (mg/L) <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005 <0.00005
L v kO ZE O E W (mg/L) — — — — — — <0.001 — — — — — — — <0.001
w k O x o b A& W (mg/L) — — — — — — <0.001 — — — — — — — <0.001
t F K O 2 O b A& W (mg/L) 0.002 0.002 0.002 0.002 0.002 0.002 0.002 0.002 0.002 0.002 0.002 0.002 0.002 0.002 0.002
N oM 7 om A b A W (mg/L) — — — — — — <0.001 — — — — — — — <0.001
fi fi fig: fe = F (mg/L) <0.004 — — <0.004 — — <0.004 — — <0.004 — — <0.004 <0.004 <0.004
T A A A e O A T v (mg/L) — — — — — — <0.001 — — — — — — — <0.001
YR ORE B OHE K OO RY MR RE & H (mg/L) 0.51 — — 0.48 — — 0.45 — — 0.50 — — 0.51 0.45 0.49
7 v EF kK O FE 0O AW (mg/L) <0.08 — — <0.08 — — <0.08 — — <0.08 — — <0.08 <0.08 <0.08
U F KM N E 0oL AW (mg/L) — — — — — — 0.07 — — — — — — — 0.07
by i} e R e (mg/L) — — — — — — <0.0001 — — — — — — — <0.0001
1,4~ D %+ s 4 e (mg/L) — — — — — — <0.001 — — — — — — — <0.001
AL 2-vrmnTF L R T A=
12- ¥ 7/ o n = F L v (mg/L) - - — — — — <0.0001 — — — — — — — <0.0001
D/ - S S S SN (mg/L) — — — — — — <0.0001 — — — — — — — <0.0001
S N 5 /7 v ouw = F L v (mg/L) — — — — — — <0.0001 — — — — — — — <0.0001
K'Y ry v owm o x= F L v (mg/L) — — — — — — <0.0001 — — — — — — — <0.0001
~ v + N (mg/L) — — — — — — <0.0001 — — — — — — — <0.0001
i) ES 73 (mg/L) — — — — — — — — — — — — — — —
7 =: = e [i73 (mg/L) — — — — — — — — — — — — — — —
7 n n 2 (mg/L) — — - — — — — — — — — — - - —
v 7 = = HE i (mg/L) — — — — — — — — — — — — — — —
Y 7\ E 7 v oua kA (mg/L) — — — — — — — — — — — — — — —
5 F fig (mg/L) — — — — — — — — — — — — — — —
S AN = S S S (mg/L) - - - — — - - - - - — — — — —
N A = =S (R (mg/L) — — — — — — — — — — — — — — —
7 m % ¥ 7 mou AL v (mg/L) - - - - - - - - - - - - - - -
A = S R S| (mg/L) - - - - - — - - — - - — — — —
A v A 7T v F B KR (mg/L) — — — — — — — — — — — — — — —
o &K O F 0o b A& W (mg/L) <0.005 — — <0.005 — — <0.005 — — <0.005 — — <0.005 <0.005 <0.005
T2 Ak OZF O EW (mg/L) — — — — — — <0.01 — — — — — — — <0.01
% X O o b A& W (mg/L) <0.01 — — <0.01 — — <0.01 — — <0.01 — — <0.01 <0.01 <0.01
g K O = o kb A& W (mg/L) — — — — — — <0.01 — — — — — — — <0.01
TRV T AR QYEOAN,EW (mg/L) — — — — — — 12 — — — — — — — 12
~ v H kD E O E W (mg/L) <0.005 — — <0.005 — — <0.005 — — <0.005 — — <0.005 <0.005 <0.005
i) 1k Y A %+ N (mg/L) 7.4 — — 7.5 — — 7.2 — — 7.3 — — 7.5 7.2 7.4
VAN /A Sy N Qi) (mg/L) 110 — — 110 — — 110 — — 110 — — 110 110 110
7K B o e W (mg/L) — — — — — — 205 — — — — — — — 205
= A 4 v R om & A (mg/L) - - - — — — <0.01 — - - — — — — <0.01
v - *+ 2 2 Ve (mg/L) — — — — — — <0.000001 — — — — — — — <0.000001
2- A F )L A4 YV KR L R F — b (mg/L) — — — — — — <0.000001 — — — — — — — <0.000001
A A v Rom & A (mg/L) - — — — — — <0.005 — — — — — — — <0.005
7 - J — JL b (mg/L) — — — — — — <0.0005 — — — — — — — <0.0005
AW (& A KR FE TOC o &) (mg/L) <0.1 0.1 0.1 0.1 0.1 0.2 0.2 0.1 0.2 0.2 0.2 0.1 0.2 0.1 0.1
p H fiEd 7.1 7.1 7.1 7.1 7.1 7.1 7.1 7.1 7.0 7.1 7.1 7.1 7.1 7.0 7.1
% _ _ _ _ _ _ _ _ _ _ _ _ _ _ _
5 £ Bl HEL FHERL B B AL L AL AL AL FERL Bl — — Bl
@, i () <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5
s £ () 0.1 0.1 0.1 0.1 0.1 <0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1
% e i) ES (mg/L.) — — — — — — — — — — — — — — —




1 KBS O KE R
[3] 7k tEF /KR
(1) B R OME R

@ JEK

£ 7K H R5.4.12 R5.5.10 R5.6.13 R5.7.5 R5.8.1 R5.9.5 R5.10.4 R5.11.8 R5.12.5 R6.1.17 R6.2.7 R6.3.5 B/ S

T FEUVCRERRXZEONEW (mg/L) — - — — — — <0.0003 — — — — — — — <0.0003
v 7 kY E O AW (mg/L) — — — — — — <0.0002 — — — — — — — <0.0002
=y b Vv kO EZE O AEWY (mg/L) — — — — — — <0.001 — — — — — — — <0.001
12- ¥ / w m = X v (mg/L) — — — — — — <0.0001 — — — — — — — <0.0001
~ JL T N (mg/1.) — — — — — — <0.0001 — — — — — — — <0.0001
THENLEY (2-=F L ~F L) (mg/L) — — — — — — <0.001 — — — — — — — <0.001
ifr i) # fig (mg/L) — — — — — — — — — — — — — — —
v s mwu 7 hk=FU L (mg/L) - - - — — — — — — — — — — — —
Wk s w5 = (mg/L) - - - - - - - - - — - — — — —
ft ES M — — — — — — <0.001 — — — — — — — <0.001
i3 Fie K 173 (mg/L) — — — — — — 10 — — — — — — — 10
1,1,1- Y 7/ 5w x X v (mg/L) — — — — — — <0.0001 — — — — — — — <0.0001
AF )L —t- 7 F )L —F )L (MTBE) (mg/L) - — — — — — <0.0001 — — — — — — — <0.0001
B O M & (T O N ) <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 1
B g (7 )T b ) — — — — — — -1.1 — — — — — — — -1.1
e & g # Al (ImLH") 34 28 910 82 64 800 2 16 210 20 18 22 910 2 184
Ll- ¥ 7 g g x F L v (mg/L) — — — — — — <0.0001 — — — — — — — <0.0001
NNT NVAaA IR ANVE FE(PFOS) K OY

NVIVARAT S BR(PFOA) (mg/L) — — — - — — <0.000005 — — — — — — — <0.000005
B = 63 3F ol (MPN/100mL) — — — — — — 0 — — — — — — — 0
b % 8 B FE Rk = (mg/L) — — — — — — — — — — — — — — —
ok O B FR OB K& (mg/L) — — — — — — — — — — — — — — —
e 1f [i73 ES (mg/L) — — — — — — — — — — — — — — —
£ = # (mg/L) — — — — — — — — — — — — — — —
4 ) > (mg/L) — — — — — — — — — — — — — — —
(. S S S B (mg/L) — — — — — — — — — — — — — — —
e fii# P Bk (mg/L) — — — — — — — — — — — — — — —
v - JL > e (MPN/L) — — — — — — — — — — — — — — —
S U < . (MPN/L) - - - - - — 0 - - - - - - - 0
X li%] #£| (MPN/100mL) 2 4 22 1 0 1 1 2 4 0 2 4 22 0 4
OO M fH B (MPN/100ml.) — — — — — — — — — — — — — — —
7 oy T = 7 f = # (mg/L) <0.02 — - <0.02 — — <0.02 — — <0.02 — — <0.02 <0.02 <0.02
Vil L % v A (mg/L) — — — — — — 29 — — — — — — — 29
~ 7 = g 7 A (mg/L) — — — — — — 8.0 — — — — — — — 8.0
it 173 A % N (mg/L) 46 — — 47 — — 49 — — 50 — — 50 46 48
) e i A % e (mg/L) — — — — — — — — — — — — — — —
U oo m X F v A R EE (mg/L) — — — — — — — — — — — — — — —
w7 v h Y JE (mg/L) - - - - - - 78 — — — — — — — 78
T e I B 2 (mS/m) 29.2 27.8 27.5 29.3 30.2 29.3 28.9 29.2 29.0 29.1 29.1 28.9 30.2 27.5 29.0




1 KIE R DOKE A
[3] KEBF/KIER
(1) B K OSHE R AL

£ 7K H R5.10.4

MPP 4+ % Y v X L K v (mg/L) <0.00005
7 X I Kk A F x Vv (mg/L) <0.0001
7 + v D 7 ) K (mg/L) <0.0001
4 = v J = ) K (mg/L) <0.0001
A 7 = v 4+ N (mg/L) <0.0001
va 7 = + > — JL (mg/L) <0.0001
A < >/ A 1% 7 =i v (mg/L) <0.0001
- K ¥ ¥ =X N T v v (mg/L.) <0.0001
- k ~ N H = N (mg/L.) <0.0001
r x ¥ v 7 g F ) (mg/L) <0.0001
J = 7 7 = 4 N (mg/L) <0.0001
7 v ¥ U K R A F (mg/L) <0.0001
Y 7 = ) a F ) — L (mg/L) <0.0001
¥y 7 v o F vy = ) (mg/L) <0.0001
> A = 5 > — JL (mg/L) <0.0001
> 3 7 L F 7 oz v (mg/L) <0.0001
7 7 v = 7 ) K (mg/L) <0.0001
¥ 7 A ~ x VA VA (mg/L) <0.0001
7 7 JL Vi D K (mg/L) <0.0001
7 ~ 7 = Y — ) (mg/L.) <0.0001
T =7 7 - J v K (mg/L) <0.0001
N T AN A % (mg/L) <0.0001
~ -z L I Y = ) (mg/L) <0.0001
N a7 N7 — (mg/L) <0.0001
v s v X g 7 v v x F ) (mg/L) <0.0001
7 7 A ~ = JL (mg/L) <0.0001
7 JL 7 v 7 v 4 (mg/L) <0.0001
N 2 Y ) K (mg/L) <0.0001
7 Y ¥ ¥ Z k wm v v (mg/L) <0.0001
7 o = 3 v (mg/L) <0.0001
v A o = N (mg/L) <0.0001
> = 1% 74 = — Jb (mg/L) <0.0001
/2 = S - S S S (mg/L) <0.0001
oNom A L 7 owm v A F b (mg/L) <0.0001
= 7 - J >4 Z A (mg/L.) <0.0001
72 S S VA A = S (mg/L) <0.0001
- % I\ = = V% (mg/L) <0.0001
AN + F JL (mg/L) <0.0004
kv 7 v R R AF ) F F (mg/L) <0.0001
Ny s -2-T7 hF L F )L (mg/L) <0.0001

@ JEK

£ K H R5.10.4

2,4-D(2,4-PA) (mg/L) <0.0001
MCPA (mg/L) <0.00005
7 v = 7 N (mg/L) <0.0001
7 + 7 - — ~ (mg/L) <0.00005
7 ~ 7 % N (mg/1.) <0.0001
7 7 v = — JL (mg/L) <0.0001
A >V ¥ va ¥ % N (mg/L) <0.00005
4 Y 7 v H 3 7  (MIPC) (mg/L) <0.0001
A4 Y 7 v F F 7 v (P (mg/L) <0.0001
A 2 J J v % N (mg/L.) <0.00006
A N vl / 7 7 v (mg/L) <0.00005
- N 7 = v 7 v v 7 R (mg/L) <0.0001
T A - R A (mg/L) <0.0001
A x v v o (B O ) (mg/L) <0.0001
7 = v A K v — (mg/L) <0.00005
il i N ) I (NAC) (mg/L) <0.0001
¥ / J 7 D > (ACN) (mg/L) <0.00005
¥ ¥ 7 vl N (mg/L) <0.0001
J D JL = N (mg/L) <0.0001
Z J Z va — ~ (mg/1.) <0.02
7 = JL ° ) Ry A (mg/L) <0.00001
7/ v wvw X% v = J (TPN) (mg/L) <0.0001
D4 7 7 % N (mg/L) <0.00001
¥ 174 = N (DCUM) (mg/L) <0.0001
Y s wm X = 5  (DBN) (mg/L) <0.0001
Y s v A K 2 (DDVP) (mg/L) <0.00005
4 ¥ %+ = JL (mg/L) <0.00005
T ~ ¥ N (CAT) (mg/L) <0.00001
v A 7 Y J v (mg/L) <0.00001
7 v 7 N (mg/L.) <0.0002
7 % P4 7 IV 7 (mg/L) <0.0001
F A 7 7y o x — b A F (mg/L) <0.0001
~ ) 7 = = JL (mg/L) <0.00005
K Yy 7 w & v (DEP) (mg/L) <0.00005
~ ) 7 JL 7 i N (mg/1.) <0.0001
7 7 = 2 D N (mg/L) <0.0001
vy 2 T = v FF v (mg/L) <0.00001
[ ) 7 ¥ ) JL 7 (mg/L) <0.0001
7 't v = = JL (mg/L) <0.000005
7 = = + um F F v (MEP) (mg/1.) <0.0001
7 = /) 7 4 7 (BPMO) (mg/L) <0.0001
7 - > F F > (MPP) (mg/L) <0.00005
7 X D Rz A (mg/L) <0.0001
- = v D R N (mg/L) <0.0001
7 n | = 7 > — JL (mg/L) <0.0001
- = = va D R (mg/L) <0.0001
~ J 2 Jb (mg/L) <0.0002
~ N > 7 = N (mg/L) <0.0001
~ N v > N (mg/L) <0.0001
A A R A (mg/L) <0.0001
X705 ( R 2a Y ) (mg/L) <0.0001
~ N % 1% + — ~ (mg/L) <0.0001
A a 7 n >~ 7 (MCPP) (mg/L) <0.0001
A v D JL (mg/L) <0.0001
A 4 7 = g JL (mg/1.) <0.0001
A 7 = = JL (mg/L) <0.0001
4 Y % Y F 4+ v F F Vv (mg/L) <0.00001
o4 T Y ) v F X Y v (mg/L) <0.00001
MPP 2 I zp ¥ v K (mg/L) <0.00005
MPP 2 JL 7z N (mg/L) <0.00005
MPP %+ ¥ v N (mg/L) <0.00005
MPP # % YV v 2 )L &K F ¥ K (mg/L) <0.00005




